SPCS Form Four

Principles of Accounts


Notes on Chapter 31

Suspense Account and the Correction of Errors – Part I

31.1 Errors NOT affecting trial balance agreement (revision)

Some errors affect the agreement of a trial balance, while others do not.  In previous chapter, we looked at some errors that do not affect the agreement of trial balance.  These errors are:

(a) Errors of commission

(b) Errors of principle

(c) Errors of original entry 

(d) Errors of omission

(e) Compensating errors

(f) Complete reversal of entries

Thus, even when the debit and credit balance totals in a trial balance agree, there could have been many errors and even very large ones which made the profits and balance sheet items incorrect.

31.2 Errors affecting trial balance agreement

The last section mentions errors, which still leave the debit and credit totals in the trial balance equal.  However, many errors will make the trial balance totals unequal, such as:

(1) Incorrect addition in any account.

(2) Single entry (e.g. a debit but no credit, or a credit but no debit)

(3) The amount in the debit entry is different from the amount in the credit entry.

(4) Recording either one of the double entry on the wrong side of an account.

(5) Missing a balance from the trial balance.

(6) An item is listed on the wrong side of the trial balance.

31.3 Suspense account

We always have to draw up the final accounts at the end of the accounting year.  If the trial balance totals are unequal, the balance sheet totals will also be unequal.  Therefore, the trial balance should be made equal so that the final accounts can be drawn up.  This is done by inserting the shortage in the suspense account.  A suspense account is only a temporary account; it will be closed when all the errors are found and corrected.

31.4 Correction of errors affecting trial balance agreement

Errors must be corrected by using DOUBLE ENTRIES.

Example 01

The trial balance as at 31 December 2007 showed a difference of $77, being a shortage of the debit side.  A suspense account was opened, and the difference of $77 was entered on its debit side.

On 28 February 2008, all the errors from the previous year were found.

(i) A cheque of $150 paid to L. Kwai had been correctly entered in the cash book, but had not been entered in Kwai’s account.

(ii) The purchase account had been undercast by $20.

(iii) A credit balance of $93 of the discounts received account had been omitted from the trial balance.

The journal entries to correct the above errors are:

	The Journal

	Date

2008
	
	Dr ($)
	Cr ($)

	Feb. 28
	L. Kwai
	150
	

	
	     Suspense
	
	150

	
	Cheque paid to Kwai last year omitted from his account.
	
	

	
	
	
	

	Feb. 28
	Purchases
	20
	

	
	     Suspense
	
	20

	
	Undercasting of purchases by $20 in last year’s account.
	
	

	
	
	
	

	Feb. 28
	Suspense
	93
	

	
	Credit balance of discounts received account omitted from trial balance.
	
	


The accounts will appear as:

	L. Kwai

	2008

Feb. 28
	Suspense a/c
	$

150
	
	
	

	
	
	
	
	
	


	Purchases

	2008

Feb. 28
	Suspense a/c
	$

20
	
	
	

	
	
	
	
	
	


	Suspense a/c

	2008

Jan. 1
	Balance b/d
	$

77
	2008

Feb. 28
	L. Kwai
	$

150

	Feb. 28
	Trial balance
	93
	Feb. 28
	Purchases
	20

	
	
	170
	
	
	170

	
	
	
	
	
	


The suspense account is now closed.

Example 02

Four errors were found in the accounts of K. Dai on 31 March 2006 after a net difference of $60 in the trial balance on 31 December 2005.

(1) Sales were overcast by $70.

(2) A credit purchase of goods totalling $59 from C. Ho was entered in the books, debit and credit entries, as $95.

(3) Insurance was undercast by $40.

(4) Cash of $50 received from a debtor, L. Yau was entered in the cash book only.

Only errors (1), (3) and (4) affect the agreement of the trial balance.  They have to be corrected using the suspense account.

The journal entries to correct the errors are:

	The Journal

	Date

2006
	
	Dr

($)
	Cr 

($)

	Mar. 31
	Sales
	70
	

	
	      Suspense
	
	70

	
	Sales overcast by $70 in 2005, now corrected.
	
	

	
	
	
	

	Mar. 31
	C. Ho ($95 - $59)
	36
	

	
	      Purchases
	
	36

	
	Credit purchases of $59 entered both debit and credit as $95 in 2005.
	
	

	
	
	
	

	Mar. 31
	Insurance
	40
	

	
	       Suspense
	
	40

	
	Insurance expense undercast by $40 in 2005, now corrected.
	
	

	
	
	
	

	Mar. 31
	Suspense
	50
	

	
	       L. Yau
	
	50

	
	Cash received omitted from L. Yau’s account in 2005, now corrected.
	
	

	
	
	
	


	Suspense a/c

	2006

Jan. 1
	Balance b/d
	$

60
	2006

Mar. 31
	Sales
	$

70

	Mar. 31
	L. Yau
	50
	Mar. 31
	Insurance
	40

	
	
	110
	
	
	110

	
	
	
	
	
	


Example 03

The trial balance totals of Wing Cheung Co. as at 31 December 2008 failed to agree and the difference was debited to a suspense account.  The draft net profit for the year amounted to $102,450.

Subsequent checks on the records revealed the following:

(1) Credit sale of office equipment for $6,200 had been recorded in the sales day book.  The office equipment was acquired for $12,000 on 1 July 2005.  The company charges a full year’s depreciation at 20 percent on the cost of office equipment held at end of each financial year.

(2) Free sample of goods costing $500 sent to a customer had been recorded as a credit sale.

(3) The purchases journal and the returns outwards journal had both been undercast by $1,130.

(4) Discounts received of $257 had been credited to the interest received account as $275.

(5) A bad debt recovered for $5,180 had been treated as a decrease in the provision of bad debts.

(6) Carriage inwards of $3,870 had been credited to the returns inwards account as $3,780.

(7) A cheque payment of $1,280 had been recorded TWICE in the electricity account, but none in the cash book.

You are required to prepare:

(a) The necessary journal entries to correct the above errors.  (Narrations not required)

(b) The suspense account to ascertain the difference in the trial balance before corrections.

(a)  

	The Journal

	Date

2008
	
	Dr

($)
	Cr 

($)

	Dec. 31

(1)
	Sales

         Debtors (in sales ledger)
	6,200
	6,200

	
	Debtors (in general ledger)

          Office equipment disposal
	6,200
	6,200

	
	Office equipment disposal

           Office equipment
	12,000
	12,000

	
	Provision for depreciation – office equipment

           Office equipment disposal ($12,000 x 20% x 3)
	7,200
	7,200

	
	Office equipment disposal ($12,000 - $7,200 - $6,200)

            Profit and loss account 
	1,400
	1,400

	
	
	
	

	Dec. 31

(2)
	Sales

            Debtor
	500
	500

	
	
	
	

	Dec. 31

(3)
	Purchases

           Returns outwards
	1,130
	1,130

	
	
	
	

	Dec. 31

(4)
	Interest received

           Discounts received

           Suspense
	275
	257

18

	
	
	
	

	Dec. 31

(5)
	Debtor

           Provision for bad debts
	5,180
	5,180

	
	Bank

           Debtor
	5,180
	5,180

	
	
	
	

	Dec. 31

(6)
	Returns inwards

Carriage inwards

           Suspense
	3,780

3,870
	7,650

	
	
	
	

	Dec. 31

(7)
	Suspense

           Electricity

           Bank
	2,560
	1,280

1,280

	
	
	
	


(b)

	Suspense a/c

	2008

Dec. 31


	Balance b/f

(Balancing figure)
	$

5,108
	2008

Dec. 31
	Interest received (4)
	$

18

	
	Electricity (7)
	1,280
	
	Returns inwards (6)
	3,780



	
	Bank (7)
	1,280
	
	Carriage inwards (6)
	3,870

	
	
	7,668
	
	
	7,668

	
	
	
	
	
	


* The original difference in the trial balance (the shortage in the debit balances total) should have been $5,108.
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